	Question:

What is a forest?

	Question:

What is the name of a tree that has characteristics of both deciduous and evergreen trees?
Answer:

They are wild animals.
	Question:

Firs and spruce are very similar when viewed from a distance. How can we distinguish them anyway?
Answer:
It sheds its leaves to protect itself from frost.
	Question:

In which type of forest can you find oak, beech, ash?
Answer:

Serbs use an oak tree as a sacred tree.

	Question:

What can cause a forest fire?
Answer:
Man takes care of wild animals by not destroying the forests and by taking corn and hay to the forest in winter.
	Question:

People need wood for different purposes. How can we use wood without endangering the forest and its inhabitants?
Answer:

In a leaf.
	Question:

What can we use from the forest as our food?
Answer:

They can be found in the deciduous forest.
	Question:

Why shouldn't children pick mushrooms themselves?
Answer:

We make a broom from birch.

	Question:

What is reforestation?
Answer:

Larch has characteristics of both deciduous and coniferous trees. It sheds all the bristles in the fall, and they grow back in the spring.
	Question:

Why is it pleasant in the forest during the summer heat?
Answer:

Bristles are the leaves of conifers.
	Question: 

What are bristles?
Answer:

A forest is a natural terrestrial living community consisting of various types of low plants, bushes and trees.
	Question:

What is the common name for animals that live in the forest?
Answer:

The fir cones stand upright, while the spruce cones hang down.

	Question:

How do people take care of wild animals?
Answer:

That process is important for people because the tree then uses carbon dioxide from the air and releases oxygen into the air. This is how the air is purified.
	Question:

Why do deciduous trees shed their leaves?
Answer:

The most widespread tree in Serbia is beech.
	Question:

Which tree is sacred to the Serbs?
Answer:

The plant is missing - grass.
	Question:

What wood do we make a broom from?
Answer:

A fire can be caused by a lightning strike, a fire that a person starts when he burns the surrounding fields, thrown glass, an unextinguished fire after a barbecue.


	Question:

What is erosion and how do trees prevent it?
Answer:

We can use some fruits such as hazelnuts, blueberries, thorns, dogwoods, we can make juice from the flowers of the elder, we can use mushrooms and the meat of some wild animals.
	Question:
In which organ does the tree create food for itself?
Answer:

Children should not pick mushrooms themselves because there are some that are poisonous. You should be well trained to pick mushrooms.
	Question:
Why is the process by which a tree creates food important to people?
Answer:

Erosion is the washing away of the soil, and trees prevent it because they retain the soil with their roots.
	Question:
In which life process does a tree use oxygen?
Answer:

Reforestation is the process of replanting an area with trees.

	Question:
From which tree is the leaf on the great coat of arms of Serbia?
Answer:

A tree uses oxygen when it breathes.
	Question:

What is the most common tree in Serbia?
Answer:

There is an oak leaf on the great coat of arms of Serbia.
	Question:

What is missing in a given food chain:

rabbit-fox-bear?
Answer:

Forests are more pleasant in summer because the air temperature is lower in them.

	Answer:

People can cut down trees that foresters have marked for cutting, never cut down all the trees in their forests at once, and recycle paper and cardboard.


KNOWLEDGE CHAIN – how to play

Shuffle the cards and then distribute them to the students, one for each student or more cards if there are fewer students.

The chain starts with the student who got the card with only the question on it. All other students look for the answer on their cards. No one comments out loud and when one of the students finds the answer and reads it to the class. If the other students say the answer is correct, the student who gave the correct answer reads the question on his card and the chain continues until the student whose card only has the answer reads his answer.

